restart;

wi t h( Li near Al gebr a):

vli:= <3| 0| 0>

v2:=<-4| 2| -1>;

ul:=[1,-2,3];

wl: = <-1, 2, -5>;

Vect or Add(v1l, v2);

Vect or Add( v1,v2, 3,

vl;

AV

Vect or Norm(vl, 2);

Vector Norm(v2, 2);

-2);
[17 -4 2]

[300]

[-42 -1]

var

VectorNorm(v2, infinity);

Dot Product (v1, v2);

-12



CrossProduct (v1, v2);
[03 6]

Vect or Angl e(vl, v2);

T —arccos(i v 21 )

21
Vect or Angl e(<1| 0>, <0| 1>);

X

2
restart;
wi th(linalg):
v :=[2,3,4];

vi=1[2,3,4]
u:=[-3,1,-5];
u=1[-3,1,-5]

mat add(u, v, 2, -4);
[ ~14 -10 -26]

norm(v, 2);
v 29
norm(u,infinity);
5
dot prod(v, u);
-23
crossprod(v, u);
[ -19 -2 11 |
normal i ze([-6,-8,0]);
3 4
35 0]

angle( [-6,-8,0], [1,0,0]);

T — arccos(;—o v 100 )



